2025 USEA Intercollegiate Eventing

Championship at Stable View Aiken Aiken, SC

Aiken, SC May 2-4, 2025			USEA ID#:	18715									
2025 Intercollegiate I	Eventing												
UK Wildcats	Lvenung	Champ	JULISHI	iμ								77.755	1
Padgett, Emerson MSH Giant Jac'Ka 3	TR-C	Drsg 🟮	22.600	Stad 🟮	0.0	0.0 🕄	XC 🕄	0.0	0.0	22.60	0.90 20.340	11.155	
Englund, Callia Fernhill Celtic Flight ¹	ON-B	Drsg 🕚	26.900	Stad 🕚	0.0	0.0 🕚	XC 🕄	0.0	0.0	26.90	0.95 25.555		
Hale, Macy Dr. Hart ¹	TR-B	Drsg 🕚	29.800	Stad 🕚	4.0 🕄	0.0 🕄	XC 🕄	0.0	1.6	35.40	0.90 31.860		
Ertl, Sarah Redwood Quality ¹	OP	Drsg 🕚	41.000	Stad 🕄	4.0 🕚	0.8 🕚	XC 🕄	0.0	0.0	45.80	0.80 36.640		
UGA Arch Rivals												89.535	2
Tresan, Devon EPA Cullen ¹	ON-B	Drsg 🕚	25.600	Stad 🕄	4.0 🕚	0.0 🕚	XC 🕄	0.0	0.0	29.60	0.95 28.120		
Parker, Katlyn Ivanesque ¹	TR-A	Drsg 🕚	33.300	Stad 🕄	0.0	0.0 🕚	XC 🕄	0.0	0.0	33.30	0.90 29.970		
Carroll, Ansley Sweet Georgia Brown 🕚	NR-C	Drsg 🕚	33.100	Stad 🕄	0.0	0.0 🕄	XC 🕄	0.0	0.0	33.10	0.95 31.445		
Auburn University War Eagle	е											90.880	3
Roberts, Lara Fernhill Show Biz ³	ОМ	Drsg 🕚	25.700	Stad 🕚	0.0	0.0 🕚	XC 🕄	0.0	0.0	25.70	0.85 21.845		
Snyder, Elle Fernhill DiCaprio ¹	TR-B	Drsg 🕚	32.900	Stad 🕚	0.0	0.0 🕚	XC 🕄	0.0	0.0	32.90	0.90 29.610		
Slaughter, Sarah Beth In The Spotlight	ON-B	Drsg 🕄	37.500	Stad 🕚	4.0 🕄	0.0 🕚	XC 🕄	0.0	0.0	41.50	0.95 39.425		
Midgley, Katarina Fernhill Lovebug	OT-B	Drsg 🕄	32.100	Stad 🕚	16.0 🕚	0.0 🕚	XC 🕄	0.0	0.0	48.10	0.90 43.290		
UK Big Blue												94.125	4
Presel, Rian Reddy Freddy ¹	TR-B	Drsg 🕚	33.100	Stad 🕄	0.0	0.0 🕄	XC 🕄	0.0	0.0	33.10	0.90 29.790		
Sanchez, Elliana Chronicles of Jabez	NR-A	Drsg 🕚	33.300	Stad 🕄	0.0	0.0 🕄	XC 🕄	0.0	0.0	33.30	0.95 31.635		
Delahanty, Kiera Silver Wend	START-B	Drsg 🕚	32.700	XC 🕄	0.0	0.0	Stad 🕚	0.0	0.0	32.70	1.00 32.700		
Pierce, Vivian Fernhill Saulsford Nazar ³	MR	Drsg 🕚	30.200	Stad 🕄	4.0 🕚	0.0 🕄	XC 🕚	20.0 🕚	10.0	64.20	0.85 54.570		
Randolph-Macon College Bu	JZZ											95.310	5
Holzrichter, Katherine DressedForTheFifth	TR-A	Drsg 🕚	30.700	Stad 🛈	0.0	0.0 🕄	XC 🕄	0.0	0.0	30.70	0.90 27.630		
McGowan, Abigail Mystic Serenade	TR-B	Drsg 🕚	37.100	Stad 🕄	0.0	0.0 🕚	XC 🕄	0.0	0.0	37.10	0.90 33.390		
Cooke, Caroline Clay Moonlit Troll	TR-B	Drsg 🕚	38.100	Stad 🔨	0.0	0.0 🕚	XC 🕚	0.0	0.0	38.10	0.90 34.290		
Schmit-Chow, Ariana Arizona GS ³	MR	Drsg 🕚	35.200	Stad 🕄	0.0	0.0 🕚	XC 🕄	0.0	14.4	49.60	0.85 42.160		
Randolph-Macon College Bl	ack											95.597	6
Richey, Ellissa Claudia Amarillo ³	START-C	Drsg 🕚	27.300	XC 🕄	0.0	0.0	Stad 🕚	0.0	0.0 🤇	27.30	1.00 27.300		
Aubel, Vivian Upper Crown ¹	BNR-B	Drsg 🕚	30.300	Stad 🕚	4.0 🕚	0.0 🕚	XC 🕄	0.0	0.0	34.30	0.99 33.957		
Schmit-Chow, Ariana Flying Again ¹	MR	Drsg 🕚	36.400	Stad 🔨	4.0 🕄	0.0 🕄	XC 🕄	0.0	0.0	40.40	0.85 34.340		
Herr, Abigail Lovelocks Rumplestiltskin ¹	TR-B	Drsg 🕚	36.000	Stad 🟮	4.0 🕄	0.0 🕚	XC 🕄	0.0	0.0	40.00	0.90 36.000		
USC-Aiken The Ace of Pace	rs											97.010	7
Mourgenos, Lanie L Fit & Frisky ³	NR-C	Drsg 🕚	30.800	Stad ᠑	0.0	0.0 🕚	XC 🕄	0.0	0.4	31.20	0.95 29.640		
Gyselinck, Heidi Bricktop JHF ¹	MR	Drsg 🕚	36.900	Stad 🔨	0.0	0.0 🕚	XC 🕄	0.0	0.0	36.90	0.85 31.365		
Brady-Owen, Sophia Popular Harlington	ON-B	Drsg 🕚	33.900	Stad ᠑	4.0 🕄	0.0 🕚	XC 🕄	0.0	0.0	37.90	0.95 36.005		
Redmond, Marissa Bel Volto ³	OBN	Drsg 🕚	39.400	Stad ᠑	8.0 🕄	0.0 🕚	XC 🕄	0.0	0.0	47.40	0.99 46.926		
Auburn University Jungle												97.895	8
Grubba, Shannon Lisheen Lismakeera	TR-B	Drsg 🕚	31.900	Stad 🕚	0.0	0.0 🕚	XC 🕄	0.0	0.0	31.90	0.90 28.710		
Hand, Sophia Fernhill THE WILD CARD	NR-C	Drsg 🕚	31.400	Stad 🔒	0.0	0.0 🕚	XC 🕄	0.0	0.0	31.40	0.95 29.830		
Costello, Ashley Bourbon Flight	MR	Drsg 🕚	34.300	Stad 🛈	12.0 🕄	0.0 🕚	XC 🕄	0.0	0.0	46.30	0.85 39.355		
Stroh, Dorothy Balou Z	ON-B	Drsg 🕚	38.300	Stad 🕄	4.0 🕄	0.0 🕄	XC 🕄	0.0	0.0	42.30	0.95 40.185		
UGA Spike Squad												98.272	ç
Miller, Crockett	OT-B	Drsg 🕚	24.100	Stad 🕚	4.0 🕄	0.0 🕄	XC 🕄	0.0	0.0	28.10	0.90 25.290		

Swell Continental ¹												
Maier, Madison Clear Ridge Elwood ¹	START-C	Drsg 🕄	30.000	XC 🕄	0.0	1.6	Stad 🕄	0.0	0.0	31.60	1.00 31.600	
WILLIAMS, Norah Dr. Fred 3	BNR-B	Drsg 🛈	32.200	Stad 🙂	4.0 🕚	0.0 🕄	XC 🕄	0.0	5.6	41.80	0.99 41.382	
UK Team Scratch												100.485 10
Nelson, Emily Excel Star Brightside	NR-C	Drsg 🕄	32.200	Stad 🟮	0.0	0.0 🕚	XC 🕄	0.0	0.0	32.20	0.95 30.590	100.100 10
Taylor, Eva	OBN	Drsg 🕚	35.000	Stad 🟮	0.0	0.0 🕚	XC 🕄	0.0	0.0	35.00	0.99 34.650	
Mr Opportunity 1 Barden, Meredith	NR-B	Drsg 🕚	33.100	Stad 🟮	4.0 🕚	0.0 🕚	XC 🕄	0.0	0.0	37.10	0.95 35.245	
Right Ben 1 Winter, Eleanor	PR	Drsg 🕚	23.600	Stad 🟮	0.0	0.0 🕚	XC 🕄	20.0 🕄	15.6	59.20	0.80 47.360	
Mosstown Rebel ¹												
Auburn University Bruce Pear	I											101.195 11
Von Herbulis, Brinley Mr. Mischief (Red)	NR-B	Drsg 🕚	32.200	Stad 🕄	0.0	0.0 🕚	XC 🕚	0.0	0.0	32.20	0.95 30.590	
Lassere, Erin Foxtrot Todd 3	TR-A	Drsg 🕚	34.800	Stad 🔨	0.0	1.2 🕚	XC 🕄	0.0	1.2	37.20	0.90 33.480	
Vojnovic, Ava LH Clean Slate 3	OBN	Drsg 🕚	37.500	Stad 🔨	0.0	0.0 🕚	XC 🕄	0.0	0.0	37.50	0.99 37.125	
Arnold, Ava	NR-C	Drsg 🕄	35.300	Stad 🟮	E 🕄	E	XC 🕄				0.95 1000.000	
Peter Parker												404 000 40
UK Cats by 90 Dilger, Grace	PR	Drsg 🟮	35.200	Stad 🟮	0.0	0.0 🕚	XC 🕄	0.0	3.6	38.80	0.80 31.040	101.890 12
Whole Nine Yards ¹ Smith, Kendal	ON-B	Drsg 🟮	32.800	Stad 🟮	0.0	0.0 🕄	xc 🕄	0.0	0.0	32.80	0.95 31.160	
The Great Gatsby ³ Binder, Madeline	TR-C	Drsg 1	34.100	Stad 1	0.0	0.0 1	XC ()	0.0	10.0	44.10	0.90 39.690	
Carrafarm Be Mine 🕄					8.0 3	2.4	XC 3					
Palmer, Jackson Kilcannon High Society ¹	ON-B	Drsg 🕚	43.100	Stad 🕄	8.0 🗸	2.4 •	XC 🛡	0.0	0.0	53.50	0.95 50.825	
UTK Charge the Checkerboar	d											108.449 13
Smith, Sarah Townsend	BNR-B	Drsg 🕚	31.600	Stad 🕚	4.0 🕚	0.0 🕚	XC 🕄	0.0	0.0	35.60	0.99 35.244	
Craven, Diana Fernhill St.Nick 3	ON-B	Drsg 🤨	33.300	Stad 🕚	0.0	0.0 🕚	XC 🕄	0.0	5.2	38.50	0.95 36.575	
Muntz, Livy FGF DollarsforPennies 3	OT-B	Drsg 🕄	36.700	Stad 🕄	4.0 🕚	0.0 🕄	XC 🕄	0.0	0.0	40.70	0.90 36.630	
Puckett, Cate Viper Jens Boy 3	NR-B	Drsg 🕚	35.600	Stad 🕄	4.0 🕄	0.0 🕚	XC 🕄	19.0	0.0	58.60	0.95 55.670	
												109 920 14
Auburn University Tigers Montgomery, Grace	ON-B	Drsg 🟮	34.400	Stad 🕚	0.0	0.0 🕚	XC 🕄	0.0	0.0	34.40	0.95 32.680	108.820 14
Fernhill Wonder ¹ Walter, Reagan	TR-B	Drsg 🕄	33.800	Stad 🕚	8.0 🕄	0.0 🕄	XC 🕄	0.0	0.0	41.80	0.90 37.620	
Ideal Design 😉 Miller, Addie	TR-B	Drsg 🕄	38.800	Stad 🔨	0.0	0.0 🕄	XC 🕄	0.0	4.0	42.80	0.90 38.520	
Fernhill Leroy Brown 🕚 Petraitis, Viktorija	MR	Drsg 🟮	38.300	Stad 🟮	0.0	0.0 🕄	xc 🕄	20.0 🕄	4.0	62.30	0.85 52.955	
Fernhill Float On ¹		Diog	55.555	olud -	0.0	0.0 -	10 -	20.0	4.0	02.00	0.00 02.000	
Auburn University Swag Surf	in'											110.442 15
Brennan, Jack The Fernhill Fox ¹	BNR-B	Drsg 🕚	32.500	Stad 🕚	0.0	0.0 🕚	XC 🕄	0.0	0.0	32.50	0.99 32.175	
Clenney, Alexandria Zeppelin Ride ¹	BNR-B	Drsg 🕚	31.300	Stad 🔨	4.0 🕚	0.0 1	XC 🕄	0.0	0.0	35.30	0.99 34.947	
Stroh, Dorothy Dunki 3	NR-A	Drsg 🛈	45.600	Stad 🔨	0.0	0.0 1	XC 🕄	0.0	0.0	45.60	0.95 43.320	
Caputo, Allison	BNR-B	Drsg 🕄	34.400	Stad 🕚	8.0 🕄	0.0 🕄	XC 🕄	0.0	9.6	52.00	0.99 51.480	
Starman 0	- 11-											440,400,40
Transylvania University Wing Normandin, Olivia	NR-C	Drsg 🛈	32.800	Stad 🟮	0.0	2.4 🕄	XC 🕄	0.0	0.0	35.20	0.95 33.440	112.480 16
Discreetly Thrifty ³ Drager, Hayden	NR-B	Drsg 🕄	38.100	Stad 0	0.0	0.0 3	XC 🛈	0.0	0.0	38.10	0.95 36.195	
Winnsome Glynn, Maggie	NR-C	Drsg 0	33.100	Stad 1	12.0 3	0.0 3	XC 3	0.0	0.0	45.10	0.95 42.845	
Spotted Cat 3				XC 3			Stad 0	0.0		48.70		
Rossi, Lora Annabelle Aransas ¹	START-C	Drsg 🕚	48.700		0.0	0.0	Stad	0.0	0.0	40.70	1.00 48.700	
UK John Wall												113.810 17
Bickerstaff, Kate Just Like Ike 1	NR-C	Drsg 🕄	28.300	Stad 🤨	4.0 🕚	0.0 🕚	XC 🕄	0.0	0.0	32.30	0.95 30.685	
Aksoy, Tess	NR-C	Drsg 🕄	34.700	Stad 🕚	4.0 🕄	0.0 🕄	XC 🕄	0.0	2.4	41.10	0.95 39.045	
The Real Princess ¹ Ellis Makovsky, Morgan	NR-B	Drsg 🕚	40.800	Stad 🕚	4.0 🕚	1.6 🕚	XC 🕄	0.0	0.0	46.40	0.95 44.080	
Durango's Irish Rose ¹ Otipoby, Ali	MR	Drsg 🟮	40.500	Stad 🕚	8.0 🕄	0.0 🕄	xc 🕄	RF 🕄	RF		0.85 1000.000	
Mighty Mouse 3					_		_		_			445 000 40
Virginia Tech Newman, Jillian	OBN	Drsg 🕄	33.400	Stad 🟮	0.0	0.0 🕄	XC 🕄	0.0	0.0	33.40	0.99 33.066	115.966 18
Drombane flyer 🔨												
Manning, Brianna	START-C	Drsg 🔨	30.000	XC 🕄	0.0	11.2	Stad 🕚	0.0	0.0	41.20	1.00 41.200	

Conte Andiamo PS 🙂												
Cafferata, Lila	START-B	Drsg 🕄	41.700	XC 🕄	0.0	0.0	Stad 🟮	0.0	0.0 🕄	41.70	1.00 41.700	
Northeaster 1 Flora, Anna	START-C	Drsg 🕚	42.000	XC 🕄	60.0 🕚	6.8	Stad 🟮	4.0 🕄	0.0 🕄	112.80	1.00 112.800	
Love Potion #9 1												
UK State Street				•								116.800 19
Slavin, Lauren Southern Sunday ¹	NR-B	Drsg 🕚	38.600	Stad 🕚	0.0	0.0 🕚	XC 🕄	0.0	0.0	38.60	0.95 36.670	
Mullane, Emalie	START-B	Drsg 🕚	33.000	XC 🕄	0.0	0.0	Stad 🕚	4.0 🕚	0.0 🕄	37.00	1.00 37.000	
Governor Attack 1 Yolen, Kiki	NR-C	Drsg 🕚	41,400	Stad 🟮	4.0 🕄	0.0 🕄	XC 🕄	0.0	0.0	45.40	0.95 43.130	
Alt Decorum 3		-										
Holcomb, Rebecca Laki Lio ¹	NR-C	Drsg 🕄	42.200	Stad 🕚	4.0 🕚	0.0 🕚	XC 🕄	0.0	9.2	55.40	0.95 52.630	
Auburn University Bodda Get	tta											116.807 20
Douglass, Janette	BNR-B	Drsg 🕄	32.800	Stad 🕚	0.0	0.0 🕚	XC 🕚	0.0	0.0	32.80	0.99 32.472	
Made You Look 9 Hammann, Taylor	START-B	Drsg 🕚	35,700	xc 🕄	0.0	0.0	Stad 🕄	4.0 🕄	16 0	41.30	1.00 41.300	
Very Superstitious ¹						_						
Seabrook, Sophie Blazing Tornado 🟮	ON-B	Drsg 🕚	39.700	Stad 🕚	4.0 🙂	0.0 🕚	XC 🕄	0.0	1.6	45.30	0.95 43.035	
Parker, Reese	NR-C	Drsg 🕄	34.200	Stad 🟮	16.0 🕄	10.8 🕚	XC 🕄	E 🕄	Е		0.95 1000.000	
Tough Poppa 😉												447.405.04
Randolph-Macon College Jac Niles, Teagan	START-C	Drsg 🕚	34.000	xc 🕄	0.0	0.0	Stad 🟮	0.0	0.0 6	34.00	1.00 34.000	117.125 21
Quiet Wildcat	START-0		54.000		0.0			0.0	0.0	34.00	1.00 34.000	
Raley, Sheridan Wicked Agenda ¹	NR-C	Drsg 🕄	41.100	Stad 🕚	0.0	0.4 🕄	XC 🕄	0.0	0.0	41.50	0.95 39.425	
Kennedy, Jacqueline	START-B	Drsg 🕚	43.700	XC 🕄	0.0	0.0	Stad 🟮	0.0	0.0 🕄	43.70	1.00 43.700	
Always Drama 1 Mueller, Whitley	BNR-B	Drsg 🕚	53.800	Stad 🕚	0.0	0.0 🕄	XC 🕄	0.0	0.0	53.80	0.99 53.262	
Sovereign Citizen 3	DINK-D	Disg 🔍	55.000	Stau 🗸	0.0	0.0 🗢		0.0	0.0	55.00	0.33 33.202	
Texas A&M (Rev)'n It												118.245 22
Talcott, Sarah Phlying Phoenix ¹	NR-C	Drsg 🕚	26.100	Stad 🕚	0.0	0.0 🕄	XC 🕄	0.0	0.0	26.10	0.95 24.795	
McDonald, Brenna	TR-A	Drsg 🕄	32.900	Stad 🕄	0.0	0.0 🕄	XC 🕄	0.0	0.0	32.90	0.90 29.610	
CMF Rembrandt	NR-B	Drsg 🟮	39.200	Stad 🟮	0.0	0.4 🕄	XC 🕄	20.0 🕄	7.6	67.20	0.05 62 940	
Alfaro, Hailey A girls best Jim 🕚	INR-D	-	39.200		0.0				1.0	07.20	0.95 63.840	
Peinado, Scarlett Cooley Dejavu	TR-B	Drsg 🕄	37.100	Stad 🔨	0.0	2.8 🕄	XC 🕄	RF 🕄	RF		0.90 1000.000	
Randolph-Macon College Yel	llow											118.785 23
rianaoipir macon oonogo ro												
Kuhr, Lily Marie	NR-C	Drsg 🟮	31.900	Stad 🕚	0.0	0.4 🕚	XC 🕄	0.0	0.0	32.30	0.95 30.685	
Zenzero 3		-										
Zenzero Frickman, Josie The Little Sprout	NR-C BNR-B	Drsg 🕄	31.900 32.500	Stad 🕚	0.0 4.0 ³	0.0 3	XC 🕄	0.0	0.0 0.0	32.30 36.50	0.95 30.685 0.99 36.135	
Zenzero ¹ Frickman, Josie The Little Sprout ¹ Muniz, Gabriella		-										
Zenzero Frickman, Josie The Little Sprout	BNR-B	Drsg 🕄	32.500	Stad 🕚	4.0 🕄	0.0 3	XC 🕄	0.0	0.0	36.50	0.99 36.135	
Zenzero ¹ Frickman, Josie The Little Sprout ¹ Muniz, Gabriella Vaya Con Dios ¹ Skelton, Emma Imperial Jaguar ¹	BNR-B NR-C	Drsg ¹ Drsg ¹	32.500 34.700	Stad 1 Stad 1	4.0 () 0.0	0.0 3	XC ³	0.0	0.0	36.50	0.99 36.135 0.95 51.965	
Zenzero ¹ Frickman, Josie The Little Sprout ¹ Muniz, Gabriella Vaya Con Dios ¹ Skelton, Emma Imperial Jaguar ¹ University of South Carolina	BNR-B NR-C BNR-B	Drsg ¹ Drsg ¹ Drsg ¹	32.500 34.700 35.600	Stad 0 Stad 0 Stad 0	4.0 0 0.0 E 0	0.0 0 0.0 0 E	xc 0 xc 0 xc 0	0.0	0.0	36.50 54.70	0.99 36.135 0.95 51.965 0.99 1000.000	120.355 24
Zenzero ¹ Frickman, Josie The Little Sprout ¹ Muniz, Gabriella Vaya Con Dios ¹ Skelton, Emma Imperial Jaguar ¹	BNR-B NR-C	Drsg ¹ Drsg ¹	32.500 34.700	Stad ¹ Stad ¹ Stad ¹ Stad ¹	4.0 () 0.0	0.0 3	XC ³	0.0	0.0	36.50	0.99 36.135 0.95 51.965	120.355 24
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley	BNR-B NR-C BNR-B	Drsg ¹ Drsg ¹ Drsg ¹	32.500 34.700 35.600	Stad 0 Stad 0 Stad 0	4.0 0 0.0 E 0	0.0 0 0.0 0 E	xc 0 xc 0 xc 0	0.0	0.0	36.50 54.70	0.99 36.135 0.95 51.965 0.99 1000.000	120.355 24
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran	BNR-B NR-C BNR-B MR	Drsg ¹ Drsg ¹ Drsg ¹ Drsg ¹	32.500 34.700 35.600 33.100	Stad ¹ Stad ¹ Stad ¹ Stad ¹	4.0 ⁽¹⁾ 0.0 E ⁽¹⁾ 0.0	0.0 ³ 0.0 ³ E	xc 0 xc 0 xc 0 xc 0	0.0 20.0 3	0.0 0.0 5.2 0.0	36.50 54.70 38.30	0.99 36.135 0.95 51.965 0.99 1000.000	120.355 24
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Muse Bianco, Darby Finding Nemo	BNR-B NR-C BNR-B MR NR-C START-B	Drsg ^① Drsg ^① Drsg ^① Drsg ^① Drsg ^① Drsg ^①	32.500 34.700 35.600 33.100 40.000	Stad ¹ Stad ¹ Stad ¹ Stad ¹ Stad ¹ XC ¹	4.0 • 0.0 E • 0.0 4.0 • 0.0	0.0 () 0.0 () E 0.0 () 0.0 () 0.0	XC 0 XC 0 XC 0 XC 0 XC 0 XC 0 XC 0	0.0 20.0 • 0.0 0.0 0.0 0.0	0.0 0.0 5.2 0.0 0.0	36.50 54.70 38.30 44.00 46.00	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000	120.355 24
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby	BNR-B NR-C BNR-B MR NR-C	Drsg ¹ Drsg ¹ Drsg ¹ Drsg ¹ Drsg ¹	32.500 34.700 35.600 33.100 40.000	Stad ¹ Stad ¹ Stad ¹ Stad ¹ Stad ¹	4.0 1 0.0 E 1 0.0 4.0 1	0.0 3 0.0 3 E 0.0 3 0.0 3	xc 0 xc 0 xc 0 xc 0 xc 0	0.0 20.0 ⁽¹⁾ 0.0 0.0	0.0 0.0 5.2 0.0	36.50 54.70 38.30 44.00	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800	120.355 24
Zenzero ¹ Frickman, Josie The Little Sprout ¹ Muniz, Gabriella Vaya Con Dios ¹ Skelton, Emma Imperial Jaguar ¹ University of South Carolina Wegerich, Ella VC Hermes du Landran ¹ Hoge, Riley Mighty Mouse ¹ Bianco, Darby Finding Nemo ¹ Brazzell, Mallory	BNR-B NR-C BNR-B MR NR-C START-B	Drsg ^① Drsg ^① Drsg ^① Drsg ^① Drsg ^① Drsg ^①	32.500 34.700 35.600 33.100 40.000	Stad ¹ Stad ¹ Stad ¹ Stad ¹ Stad ¹ XC ¹	4.0 • 0.0 E • 0.0 4.0 • 0.0	0.0 () 0.0 () E 0.0 () 0.0 () 0.0	XC 0 XC 0 XC 0 XC 0 XC 0 XC 0 XC 0	0.0 20.0 • 0.0 0.0 0.0 0.0	0.0 0.0 5.2 0.0 0.0	36.50 54.70 38.30 44.00 46.00	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000	120.355 24
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia	BNR-B NR-C BNR-B MR NR-C START-B	Drsg ^① Drsg ^① Drsg ^① Drsg ^① Drsg ^① Drsg ^①	32.500 34.700 35.600 33.100 40.000	Stad ¹ Stad ¹ Stad ¹ Stad ¹ Stad ¹ XC ¹	4.0 • 0.0 E • 0.0 4.0 • 0.0	0.0 () 0.0 () E 0.0 () 0.0 () 0.0	XC 0 XC 0 XC 0 XC 0 XC 0 XC 0 XC 0	0.0 20.0 • 0.0 0.0 0.0 0.0	0.0 0.0 5.2 0.0 0.0	36.50 54.70 38.30 44.00 46.00	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000	
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs	BNR-B NR-C BNR-B MR NR-C START-B OBN	Drsg (1) Drsg (1) Drsg (1) Drsg (1) Drsg (1) Drsg (1) Drsg (1)	32.500 34.700 35.600 33.100 40.000 46.000 41.600	Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 XC 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0	0.0 3 0.0 3 E 0.0 3 0.0 3 0.0 3 0.0 3	xc 6 xc 6 xc 6 xc 6 xc 6 xc 6 xc 6 xc 6	0.0 20.0 • 0.0 0.0 0.0 0.0	0.0 0.0 5.2 0.0 0.0 5.2 0.0	36.50 54.70 38.30 44.00 46.00 46.80	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332	
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia Hilbilly Wille Braun, Nina Celeste Arctic Ridge	BNR-B NR-C BNR-B MR NR-C START-B OBN NR-C START-C	Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🌒	32.500 34.700 35.600 33.100 40.000 46.000 41.600 33.100 44.000	Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0 0.0	0.0 9 0.0 9 E 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9	xc 0 xc 0 xc 0 xc 0 xc 0 xc 0 xc 0 xc 0	0.0 20.0 • 0.0 0.0 0.0 0.0 0.0 0.0	0.0 0.0 5.2 0.0 0.0 5.2 0.0 0.0	36.50 54.70 38.30 44.00 46.00 46.80 33.10 44.00	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000	
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia Hilbily Willie Braun, Nina Celeste	BNR-B NR-C BNR-B MR NR-C START-B OBN	Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄	32.500 34.700 35.600 33.100 40.000 46.000 41.600	Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0	0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9	XC 6 XC 6 XC 6 XC 6 XC 6 Stad 6 XC 6	0.0 20.0 • 0.0 0.0 0.0 0.0 0.0	0.0 0.0 5.2 0.0 0.0 5.2 0.0	36.50 54.70 38.30 44.00 46.00 46.80	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332	
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia Hillbilly Willie Braun, Nina Celeste Arctic Ridge Kopp, Julia Joie de Vivre Merrill, Charlotte	BNR-B NR-C BNR-B MR NR-C START-B OBN NR-C START-C	Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🌒	32.500 34.700 35.600 33.100 40.000 46.000 41.600 33.100 44.000	Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0 0.0	0.0 9 0.0 9 E 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9	xc 0 xc 0 xc 0 xc 0 xc 0 xc 0 xc 0 xc 0	0.0 20.0 • 0.0 0.0 0.0 0.0 0.0 0.0	0.0 0.0 5.2 0.0 0.0 5.2 0.0 0.0	36.50 54.70 38.30 44.00 46.00 46.80 33.10 44.00	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000	
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia Hillbilly Willie Braun, Nina Celeste Arctic Ridge Kopp, Julia Joie de Vivre Merrill, Charlotte FGF Actively Engaged	BNR-B NR-C BNR-B MR NR-C START-B OBN NR-C START-C BNR-A	Drsg 🕯 Drsg 🕯 Drsg 🌒 Drsg 🌒 Drsg 🎒 Drsg 🕯 Drsg 🎒 Drsg 🎒 Drsg 🌒	32.500 34.700 35.600 33.100 40.000 46.000 41.600 33.100 44.000 38.100	Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 XC 9 Stad 9 XC 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0 0.0 0.0 0.0	0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9	XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6	0.0 20.0 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0	0.0 0.0 5.2 0.0 0.0 5.2 0.0 0.0 10.0	36.50 54.70 38.30 44.00 46.80 33.10 48.10	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000 0.99 47.619	123.064 25
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia Hillbilly Willie Braun, Nina Celeste Arctic Ridge Kopp, Julia Joie de Vivre Merrill, Charlotte	BNR-B NR-C BNR-B MR NR-C START-B OBN NR-C START-C BNR-A	Drsg 🕯 Drsg 🕯 Drsg 🌒 Drsg 🌒 Drsg 🎒 Drsg 🕯 Drsg 🎒 Drsg 🎒 Drsg 🌒	32.500 34.700 35.600 33.100 40.000 46.000 41.600 33.100 44.000 38.100	Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 XC 9 Stad 9 XC 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0 0.0 0.0 0.0	0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9	XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6	0.0 20.0 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0	0.0 0.0 5.2 0.0 0.0 5.2 0.0 0.0 10.0	36.50 54.70 38.30 44.00 46.80 33.10 48.10	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000 0.99 47.619	
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia Hilbilly Willie Braun, Nina Celeste Arctic Ridge Kopp, Julia Joie de Vivre Merrill, Charlotte FGF Actively Engaged Texas A&M GIG 'Em & Go Koon, Bella House of Medici	BNR-B NR-C BNR-B MR NR-C START-B OBN START-C START-C BNR-A NR-A	Drsg 🕯 Drsg 🕄 Drsg 🕄 Drsg 🕯 Drsg 🕯 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄	32.500 34.700 35.600 40.000 46.000 41.600 33.100 44.000 38.100 38.100	Stad 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0 0.0 0.0 0.0 0.0 0.0	0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9	XC 0 XC 0 XC 0 XC 0 XC 0 XC 0 XC 0 XC 0	0.0 20.0 3 0.0 0.0 0.0 0.0 0.0 20.0 3 0.0	0.0 0.0 5.2 0.0 5.2 0.0 5.2 0.0 0.0 10.0 0.0	36.50 54.70 38.30 44.00 46.80 33.10 44.00 48.10 60.30 38.10	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000 0.99 47.619 0.95 57.285	123.064 25
Zenzero ¹ Frickman, Josie The Little Sprout ¹ Muniz, Gabriella Vaya Con Dios ¹ Skelton, Emma Imperial Jaguar ¹ University of South Carolina Wegerich, Ella VC Hermes du Landran ¹ Hoge, Riley Mighty Mouse ¹ Bianco, Darby Finding Nemo ¹ Brazzell, Mallory Easy Come Easy Go ¹ UGA Attack Dawgs Garza, Olivia Hillbilly Wille ¹ Braun, Nina Celeste Arctic Ridge ¹ Kopp, Julia Joie de Vivre ¹ Merrill, Charlotte FGF Actively Engaged ¹ Texas A&M GIG 'Em & Go Koon, Bella	BNR-B NR-C BNR-B MR NR-C START-B OBN NR-C START-C BNR-A NR-A	Drsg (1) Drsg (2) Drsg (2) Drsg (2) Drsg (2) Drsg (2) Drsg (2) Drsg (2) Drsg (2)	32.500 34.700 35.600 33.100 40.000 46.000 41.600 33.100 44.000 38.100 40.300	Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0 0.0 0.0 0.0 0.0 0.0	0.0 9 0.0 9 E 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9	XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6	0.0 20.0 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 20.0 3	0.0 0.0 5.2 0.0 0.0 5.2 0.0 0.0 10.0 0.0	36.50 54.70 38.30 44.00 46.80 33.10 44.00 48.10 60.30	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000 0.99 47.619 0.95 57.285	123.064 25
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia Hillbilly Wille Braun, Nina Celeste Arctic Ridge Kopp, Julia Joie de Virre Merrill, Charlotte FGF Actively Engaged Texas A&M GIG 'Em & Go Koon, Bella House of Medici Youssi, Brett Finny's Macho Man Uhlmer, Brianna	BNR-B NR-C BNR-B MR NR-C START-B OBN START-C START-C BNR-A NR-A	Drsg 🕯 Drsg 🕄 Drsg 🕄 Drsg 🕯 Drsg 🕯 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄	32.500 34.700 35.600 40.000 46.000 41.600 33.100 44.000 38.100 38.100	Stad 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0 0.0 0.0 0.0 0.0 0.0	0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9 0.0 9	XC 0 XC 0 XC 0 XC 0 XC 0 XC 0 XC 0 XC 0	0.0 20.0 3 0.0 0.0 0.0 0.0 0.0 20.0 3 0.0	0.0 0.0 5.2 0.0 5.2 0.0 5.2 0.0 0.0 10.0 0.0	36.50 54.70 38.30 44.00 46.80 33.10 44.00 48.10 60.30 38.10	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000 0.99 47.619 0.95 57.285	123.064 25
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia Hillbilly Willie Braun, Nina Celeste Arctic Ridge Kopp, Julia Joie de Vivre Merrill, Charlotte FGF Actively Engaged Texas A&M GIG 'Em & Go Koon, Bella House of Medici Youssi, Brett Finny's Macho Man (Communication of the second Vanto of the second Vanto of the second Second Second House of Medici Youssi, Brett Finny's Macho Man (Communication) Caroline Communication	BNR-B NR-C BNR-B MR NR-C START-B OBN NR-C START-C BNR-A NR-A NR-A	Drsg 4 Drsg 4	32.500 34.700 35.600 33.100 40.000 40.000 41.600 33.100 44.000 38.100 40.300 38.100 38.100 39.100	Stad 9 Stad 9	4.0 6 0.0 E 6 0.0 4.0 6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0	0.0 6 0.0 6 0.0 6 0.0 6 0.0 6 0.0 6 0.0 6 0.0 6 0.0 6 0.0 6	XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6	0.0 20.0 3 0.0 0.0 0.0 0.0 0.0 20.0 3 0.0 3 0.0 3 0.0 3 0.0 3 0.0 3 0.0 3 0.0 3 0.0 3 0.0 3 0.0 3 0.0 3 0.0 3 0 0 0 0	0.0 0.0 5.2 0.0 0.0 5.2 0.0 0.0 10.0 0.0 0.0 0.0 8.0	36.50 54.70 38.30 44.00 46.80 33.10 48.10 60.30 38.10 47.10	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000 0.99 47.619 0.95 57.285 0.95 36.195 0.80 37.680	123.064 25
Zenzero • Frickman, Josie The Little Sprout • Muniz, Gabriella Vaya Con Dios • Skelton, Emma Imperial Jaguar • University of South Carolina Wegerich, Ella VC Hermes du Landran • Hoge, Riley Mighty Mouse • Bianco, Darby Finding Nemo • Brazzell, Mallory Easy Come Easy Go • UGA Attack Dawgs Garza, Olivia Hilloily Wille • Braun, Nina Celeste Arctic Ridge • Kopp, Julia Joie de Vivre • Merrill, Charlotte FGF Actively Engaged • Texas A&M GIG 'Em & Go Koon, Bella House of Medici • Youssi, Brett Finny's Macho Man • Uhlmer, Brianna Valeta Dancer •	BNR-B NR-C BNR-B MR NR-C START-B OBN START-C BNR-A NR-B PR BNR-A	Drsg 4 Drsg 4	32.500 34.700 35.600 40.000 40.000 41.600 33.100 44.000 38.100 38.100 38.100 39.100 49.700	Stad 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.	0.0 9 0.0 9	XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6	0.0 20.0 3 0.0 0.0 0.0 0.0 0.0 20.0 3 0.0 20.0 3 0.0 0.0 0.0 0.0 0.0	0.0 0.0 5.2 0.0 0.0 5.2 0.0 0.0 10.0 0.0 8.0 0.8	36.50 54.70 38.30 44.00 46.80 33.10 44.00 46.80 46.80 33.10 47.10 50.50	0.99 36.135 0.95 51.965 0.99 100.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000 0.99 47.619 0.95 57.285 0.95 57.285 0.95 36.195 0.80 37.680	123.064 25
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia Hilbilly Willie Braun, Nina Celeste Arctic Ridge Kopp, Julia Joie de Vivre Kopp, Julia Joie de Vivre Kopp, Julia Joie de Vivre Kop, Julia Joie de Vivre Kop, Seat Kop, Seat House of Medici Youssi, Brett Finny's Macho Man Uhlmer, Brianna Valeta Dancer McBee, Payton Mine Four Keeps UT Knoxville Orange Out	BNR-B NR-C BNR-B MR NR-C START-B OBN START-C BNR-A NR-B PR BNR-A NR-B	Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄	32.500 34.700 35.600 40.000 40.000 41.600 33.100 44.000 38.100 38.100 38.100 39.100 39.100 39.100	Stad 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.	0.0 9 0.0 9	XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6	0.0 20.0 3 0.0 0.0 0.0 0.0 0.0 20.0 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.	0.0 0.0 5.2 0.0 0.0 5.2 0.0 0.0 10.0 0.0 8.0 0.8 20.0	36.50 54.70 38.30 44.00 46.00 46.80 33.10 44.00 48.10 60.30 38.10 47.10 50.50 55.60	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000 0.99 47.619 0.95 57.285 0.95 57.285 0.80 37.680 0.99 49.995 0.95 52.820	123.064 25
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia Hillbilly Willie Braun, Nina Celeste Arctic Ridge Kopp, Julia Joie de Vivre Merrill, Charlotte FGF Actively Engaged Texas A&M GIG 'Em & Go Koon, Bella House of Medici Youssi, Brett Finny's Macho Man Valeta Dancer McBee, Payton Mine Four Keeps UT Knoxville Orange Out Blake, Amanda	BNR-B NR-C BNR-B MR NR-C START-B OBN START-C BNR-A NR-B PR BNR-A	Drsg 4 Drsg 4	32.500 34.700 35.600 40.000 40.000 41.600 33.100 44.000 38.100 38.100 38.100 39.100 49.700	Stad 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.	0.0 9 0.0 9	XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6	0.0 20.0 3 0.0 0.0 0.0 0.0 0.0 20.0 3 0.0 20.0 3 0.0 0.0 0.0 0.0 0.0	0.0 0.0 5.2 0.0 0.0 5.2 0.0 0.0 10.0 0.0 8.0 0.8	36.50 54.70 38.30 44.00 46.80 33.10 44.00 46.80 46.80 33.10 47.10 50.50	0.99 36.135 0.95 51.965 0.99 100.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000 0.99 47.619 0.95 57.285 0.95 57.285 0.95 36.195 0.80 37.680	123.064 25
Zenzero Frickman, Josie The Little Sprout Muniz, Gabriella Vaya Con Dios Skelton, Emma Imperial Jaguar University of South Carolina Wegerich, Ella VC Hermes du Landran Hoge, Riley Mighty Mouse Bianco, Darby Finding Nemo Brazzell, Mallory Easy Come Easy Go UGA Attack Dawgs Garza, Olivia Hilbilly Willie Braun, Nina Celeste Arctic Ridge Kopp, Julia Joie de Vivre Kopp, Julia Joie de Vivre Kopp, Julia Joie de Vivre Kop, Julia Joie de Vivre Kop, Seat Kop, Seat House of Medici Youssi, Brett Finny's Macho Man Uhlmer, Brianna Valeta Dancer McBee, Payton Mine Four Keeps UT Knoxville Orange Out	BNR-B NR-C BNR-B MR NR-C START-B OBN START-C BNR-A NR-B PR BNR-A NR-B	Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕯 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄 Drsg 🕄	32.500 34.700 35.600 40.000 40.000 41.600 33.100 44.000 38.100 38.100 38.100 39.100 39.100 39.100	Stad 9 Stad 9	4.0 9 0.0 E 9 0.0 4.0 9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.	0.0 9 0.0 9	XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6 XC 6	0.0 20.0 20.0 0.0 0.0 0.0 0.0 20.0 20.0	0.0 0.0 5.2 0.0 0.0 5.2 0.0 0.0 10.0 0.0 8.0 0.8 20.0	36.50 54.70 38.30 44.00 46.00 46.80 33.10 44.00 48.10 60.30 38.10 47.10 50.50 55.60	0.99 36.135 0.95 51.965 0.99 1000.000 0.85 32.555 0.95 41.800 1.00 46.000 0.99 46.332 0.95 31.445 1.00 44.000 0.99 47.619 0.95 57.285 0.95 57.285 0.80 37.680 0.99 49.995 0.95 52.820	123.064 25

Lottie Da ¹ Borden, Elizabeth What You Will ¹	NR-C	Drsg 🕚	42.200	Stad 🟮	8.0 3	0.0 🕚	xc 🕄	0.0	0.0	50.20	0.95 47.690	
Clemson University Purple												127.190 28
Shelnutt, Lara Moe ³	START-C	Drsg 🕚	36.000	XC 🕄	0.0	0.0	Stad 🟮	0.0	0.0 🕄	36.00	1.00 36.000	1211100 20
Honeycutt, McKenna Foxy ¹	START-B	Drsg 🕚	38.000	XC 🕄	0.0	0.0	Stad 🕄	0.0	0.0 🕄	38.00	1.00 38.000	
Terrell, Riley	TR-B	Drsg 🟮	41.900	Stad 🕄	16.0 🕄	1.2 🕄	XC 🕄	0.0	0.0	59.10	0.90 53.190	
FGF Savings ¹ Moorshead, Sarah	BNR-B	Drsg 🟮	32.800	Stad 🕄	8.0 🕄	0.0 🕄	XC 🕄	20.0 🕄	10.4	71.20	0.99 70.488	
String Theory (Theo) 🕄												
UK Grove Street Appel, Morgan	TR-A	Drsg 🟮	32.900	Stad 🕄	8.0 🕄	0.0 🕄	XC 🕄	0.0	0.0	40.90	0.90 36.810	130.827 29
Pimm s Cup 3												
MacLeod, Kaya Maryland Pride ¹	NR-B	Drsg 🕚	38.900	Stad 🕚	4.0 🕚	0.0 🕄	XC 🕄	0.0	0.0	42.90	0.95 40.755	
Quirk, Natasha ES Kilcullen ¹	OBN	Drsg 🟮	29.400	Stad 🕄	4.0 🕚	0.4 🕄	XC 🕄	20.0 🕚	0.0	53.80	0.99 53.262	
Hsue, Madyson ISO Serendipity ¹	OBN	Drsg 🕚	45.000	Stad 🕚	4.0 🕚	0.0 🕄	XC 🕄	RF 🕚	RF		0.99 1000.000	
UK Coach Pope										_		131.800 30
Cooper, Lea	NR-A	Drsg 🕄	36.400	Stad 🕄	4.0 🕚	0.0 🕄	XC 🕄	0.0	0.0	40.40	0.95 38.380	101.000 00
RCA Royal Splendor ¹ Holcomb, Rebecca	TR-C	Drsg 🕄	43.300	Stad 🟮	8.0 🕄	0.0 🕄	XC 🕄	0.0	0.0	51.30	0.90 46.170	
Marvelous Miss Molly ¹ Soon, Isabella	TR-B	Drsg 🟮	40.500	Stad 🟮	12.0 🙂	0.0 🕄	XC 🕄	0.0	0.0	52.50	0.90 47.250	
Tap the Moment ¹ Borne', Sydney	NR-B	Drsg 🕄	33.100	Stad 🟮	F 🛈	F	XC 🕄				0.95 1000.000	
Tiz Cause	NIC-D	Diag -	55.100	Otad -			70 -				0.55 1000.000	
UK Coach Stoops												133.370 31
Donnelly, Miranda Luv The Diamond ³	NR-B	Drsg 🕚	40.300	Stad 🕚	0.0	0.0 🕚	XC 🕚	0.0	0.0	40.30	0.95 38.285	
Delahanty, Kiera BGS Silver Lining ¹	MR	Drsg 🕚	36.700	Stad 🕚	4.0 🕚	0.0 🕄	XC 🕄	0.0	8.8	49.50	0.85 42.075	
Crutchfield, Sarah High Rock	NR-C	Drsg 🕚	31.400	Stad 🕄	0.0	0.0 🕄	XC 🕄	0.0	24.4	55.80	0.95 53.010	
UK Willy T												171.270 32
DeMoss, Allison	BNR-A	Drsg 🕚	45.600	Stad 🟮	0.0	0.0 🕚	XC 🕚	0.0	0.0	45.60	0.99 45.144	
Handsome Swede ¹ Colgan, Ainsley	OBN	Drsg 🕄	38.100	Stad 🟮	0.0	0.0 🕄	XC 🕄	20.0 🕄	0.0	58.10	0.99 57.519	
Speed Rail 😉 Hall, Lauren	BNR-A	Drsg 🛈	39.700	Stad 🟮	4.0 🕄	0.0 🕚	XC 🛈	20.0 🟮	5.6	69.30	0.99 68.607	
Gonnaneedabiggerboat ¹ Nalls, Raegan	OBN	Drsg 🕄	38,400	Stad 🟮	R 🛈	R	XC 🕄				0.99 1000.000	
Hot and Spicy - Allspice ¹	ODIN	Disg	50.400	Stad		K	AC -				0.55 1000.000	
USC/USC-Aiken	DND D		22.500	0.10			×0 0			22.50	0.00.00.475	186.172 33
Ingraham, Kaitlyn The Champagne Promise 3	BNR-B	Drsg 🕚	32.500	Stad 🕚	0.0	0.0 🕚	XC 🕄	0.0	0.0	32.50	0.99 32.175	
Brady-Owen, Sophia Deucesomedamage ¹	OBN	Drsg 🕚	37.500	Stad 🛈	12.0 🕚	0.0 🕄	XC 🕄	0.0	10.8	60.30	0.99 59.697	
Imhoff, Emma Waylon ³	START-C	Drsg 🕚	44.300	XC 🕄	40.0 🕚	0.0	Stad 🕄	4.0 🕄	6.0 🕄	94.30	1.00 94.300	
North Carolina State University	sity											188.475 34
Buchanan, Maggie 3,2,1, Blastoff	MR	Drsg 🕚	29.100	Stad 🟮	8.0 🕚	0.0 🕚	XC 🕚	0.0	0.0	37.10	0.85 31.535	
Thigpen, Keira	ON-B	Drsg 🕄	40.600	Stad 🕚	4.0 🕄	0.0 🕄	XC 🕄	0.0	0.0	44.60	0.95 42.370	
Miso Snazzy ¹ Nestor, Claire	TR-C	Drsg 🕄	36.900	Stad 🟮	12.0 🕄	0.4 🕚	XC 🕄	40.0 🕚	38.0	127.30	0.90 114.570	
A French Connexion Hope, Frances	NR-B	Drsg 🛈	33.600	Stad 🟮	R 🕄	R	XC 🕄	0.0	7.6		0.95 1000.000	
Spirits Legacy 1												191.772 35
University of Florida Walter, Lucy	OBN	Drsg 🛈	42.800	Stad 🟮	0.0	0.0 🕚	XC 🕚	0.0	0.0	42.80	0.99 42.372	191.772 35
Charge The Harbor ¹ Valentine, Sophia	START-A	Drsg 🕄	48.700	XC 🕄	0.0	0.0	Stad 0	8.0 🕄	0 0 🕄	56.70	1.00 56.700	
Lucien Cook, Piper		Drsg 0	42.300	xc 0	20.0 3	22.8	Stad 0	4.0 3		92.70	1.00 92.700	
Khalessi 🕚	START-B	-						4.0 •	3.0 0	92.70		
Tracy, Olivia Pocket Full of Sunshine	START-B	Drsg 🕚	42.300	XC 🕄	TE 🕄	TE	Stad 🟮				1.00 1000.000	
UTK/PITT Johnny Majors Cl	assic											1086.697 36
Jefferson, Olivia Gandalf The Gray ³	ON-B	Drsg 🕚	37.800	Stad 🔨	0.0	0.0 🕚	XC 🕚	0.0	0.0	37.80	0.95 35.910	
Morris, Graysen	BNR-B	Drsg 🕄	51.300	Stad 🟮	0.0	0.0 🕄	XC 🕄	0.0	0.0	51.30	0.99 50.787	
Gracious Determination ¹ Golias, Riley Mobley's Way	TR-B	Drsg 🟮	37.900	Stad 😉	0.0	0.0 🕄	XC 🕄	Е 🕄	E		0.90 1000.000	
Mobley's Way 0 Transylvania University Fly I	Pios											1092.766 37
Huebner, Ashley	START-C	Drsg 🕄	30.000	XC 🕄	0.0	0.0	Stad 🟮	0.0	0.0 🕄	30.00	1.00 30.000	1002.100 31

Her Handsome Beau 🙂												
Parks, Rory Catherine Whiskey Tango Foxtrot	BNR-B	Drsg 🕚	43.400	Stad 🟮	0.0	0.0 🕚	XC 🕄	20.0 🕚	0.0 63	3.40	0.99 62.766	
White, Lucy Chicago 185 3	BNR-B	Drsg 🕚	36.600	Stad 🕚	0.0	0.0 1	XC 🕄	RF 🕄	RF		0.99 1000.000	
James Madison University												1093.690 38
Ryan, Eliza Made You Look Twice ¹	NR-B	Drsg 🕚	34.700	Stad 🕚	4.0 🕚	0.0 🕚	XC 🕄	0.0	0.0 38	8.70	0.95 36.765	
Powers, Elizabeth Doubletall CNC ¹	BNR-B	Drsg 🕚	36.300	Stad 🕚	0.0	0.0 1	XC 🕄	20.0 🕚	1.2 57	7.50	0.99 56.925	
Julian, Francesca Maraschino ¹	START-B	Drsg 🕚	36.000	XC 🛈	E 🕚	E	Stad 🟮				1.00 1000.000	
Razzi, Gabby Sparrowhawk WE ¹	NR-B	Drsg 🕚	32.800	Stad 🕚	F 🕚	F	XC 🕄				0.95 1000.000	
FSU/AU												1124.450 39
Schram, Kani Tudors Charge ¹	NR-B	Drsg 🕚	38.600	Stad 🕚	4.0 🕚	0.0 🕚	XC 🕄	0.0		3.00	0.95 40.850	
Crede, Anna Shadow ¹	START-B	Drsg 🕚	38.000	XC 🕄	40.0 🕚	5.6	Stad 🟮	0.0	0.0 🕚 83	3.60	1.00 83.600	
Bowers, Samantha Bold Ben ¹	START-B	Drsg 🕚	34.700	XC 🕄	0.0	24.0	Stad 🕚	F 🕄	F		1.00 1000.000	
Purdy, Caroline Bad to the Bone ¹	START-B	Drsg 🕚	36.000	XC 🕚	RF 🕚	RF	Stad 🟮				1.00 1000.000	
Clemson University Orange												2097.300 40
Chastain, London Objection, Your Honor ¹	START-B	Drsg 🕚	45.300	XC 🕚	40.0 🕚	8.0	Stad 🟮	4.0 🕄	0.0 🕄 97	7.30	1.00 97.300	
Schneider, Kate WL Lipstick Taser 1	BNR-B	Drsg 🕚	34.700	Stad 🕚	12.0 🕚	8.8 🕄	XC 🕄	RF 🕄	RF		0.99 1000.000	
Summers, Annabelle Waylon	START-A	Drsg 🕚	44.300	XC 🕄	E 🕚	E	Stad 🟮				1.00 1000.000	